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t- f-Inaratio x:y, y iscalled .. GU7°4/—2—" -$,lefy Vs xty e L1

none of these u"’df (D) consequent f U (C i antecedent r’xoj.'f (B) relation J"T (A)
2- A grouped frequency tabie i is also called ~§—L"L”/ g i v"lf -2
frequercyYistributior (JU)»’ (B) data iy (A)
none of these m’dfc..uiul (D) frequency polygon (/U/UW)J-” (C)
3 If u o v, then Iny o v? ﬁ-3
=1 (D) w? =k ©  u=1lv? (B u=v? (@A
4- The set havnng only one element is called 2 b e JJ J/J Ve 4
subset ...xu{ (D) signleton set wlf (C) powerset Lrnl  (B) nultset &b (A)
5-1f @, B are the roots et WP Tun AL 342 +5%x -2 = 0 ebls a,B S5
of 3x% +5x-2 = 0, then o+ P is equal to
-2 5 -5 . 3 S5
—“ ; 2 g 2
7 O 3 (}»} s (B) 7 (A
6-_The circumference of a circle is called , et b W e 6
diameter & (D) segment A (C) chord 75 (B)  boundary w, (A)
7- 20°= ' =20" .7
3600 (D) 360" (C) 630" (B) 1200' (A)
8- A 4 cm long chrod subtends a central angle of 60°, bl 3K 60° (S5 U 4 e
The radial segment of this circle is A Kb
("4cm (D) ¢ 3cm (C) ¢ 2cm (B) ¢ 1em (A)
N(x N(x)
9= A function of the form f(x) = —E—))— with D(x) =0 er?tw/ (r" f(x) = Do) -9
D(x) = 0 where N(x) and D(x) are polynomials in x is called —UrU 2 D) sl N(x) 7
none of these UfUde el (D) a fraction ~(©) anequation i~ (B) anidentity wkls (A)
10- Radii of a circle are o U Ul Lo (5 4210
double of the diameter l'rli)c/‘; (B) all equal /l/rlJ {A)
half of any chord &%= 73y (D) all unequal ¢l (C)
11- Standard form of quadratic equation is v qaf Uslr J O TR T
ax’+bx+c=0, a%0 (B) bx+c =0, b=0 (a)
220, a%0 (D) ax® =bx, a=0 (C)
12- A collection of well-defined objects is called ) A g C’u A2
none of these Uie il (D) set &r (C)  powerset cwmi (B)  subsel owd (A
13- Roots of the equation 4x2 — 5% +2=0 are ,ujﬁ;&4x —5x4+2=0 bl =13
none of these uﬁﬁf Oy rational J”t (C) imaginary 3‘»’}{ (B) - irrational J”t,é (A)
14- A line which has two poinis in common with a circle is called -q_t"lk'(: un I AL L k14
cosine of acircle  cosine ¥ 7 (B) ' sineofacircle sine ¥l (A)
secantofacircle  secantbJi (D) tangentofacircle  tangent K~ 71y (C)
15- A cumulative frequency table is aiso called et s (909 7 15
data s (B) frequency distribution ("’ S (A).

frequency polygon LB, 2545 (D) less than cumulative frequency distribution r” U, /{ ()
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standard form,
i~ Solve x2 4 7%~2 = using quadratic formula.

ili- Define reciprocal equation.

V- Evaluate (1-30—30%)°
vi- Without solving find the sum and product of the roots
of quadratic equation 3x24+7x—11=0
vii- Define proportion.
viii- Find third proportional to 6, 12.
X-1f VocR? and V=5when R=3 find R
when V =625 '

3 Write short answers to any SIX questions:
I- Whatis a proper fraction?

i~ Resolve into partial fractions.

x2—1
iil- If X={1,4,7,9}, Y={2 4,5, 09}, then
find YU X

iv- Define an onto function.

v-if L={a, b, c}, M = (3, 4}, then find two binary
ralations of L x M.

vi- Find the sets X and Y, If

XxY ={(a,a),(b,a),(c,a),(d,a)}

vii- On 5 term tests in Mathematics, a student has made
marks of 82, 93, 86, 92 and 79. Find the median of
the marks.

setofdata 12, 14, 17, 20, 24, 29, 35, 45
ix- Define a frequency disribution.
4- Write short answers to any SIX questions:

i- Define an angle.
II- Express the following sexagesimal measure of angle
In decxmal form 60°30' 30" '

i~ Convert. —%f— into degree.v

(2_'6/:)

o i M

Iv- Discuss the nature of roots of equation 2x%-7 x+3=0

(2x6=12)

viii- Find arithmetic mean by direct method for the following

(2x6=12)

éJGJAJUf/UJ/):)/x2+7x 2=0 whbl~r
-ci(\—d/‘d’ub‘/‘{jp

éJ/(L"J@fLL 2)( ~T7x+3=0 whl-
LIS (1230 -302)°

A ALST 3324 7x-11=0 bl

- 12 Ty o PO

- EEaid g

S G 1LY 6,12

(> RInR=3 2 V=5J,:V°cR3/|'

V=625 2ok

S‘c,dn U’/‘_)b
&SR u S xz_

YUX 9nY={2,4,59 . X=(1,47.9 )
e
“Ew S ST
» L LxM Jn M={3,4)«L={a b, c}
Z':()l"‘lzllu db
S el (sets) UF Y 1 X

XxY ={(a,a),(b,a),(c,a);(d,a)}

LJ/J).»MLH‘..J!L L eF L vt iL LS

S s é_"uj/ 82, 93, 86, 92 sl 79

b Ll Qo Vol fston < b by
12,14, 17, 20, 24, 29, 35, 45 -
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2- Write short answers to any Slx questions (‘Z‘x 6 =12) -é;iwzﬁ’&auw(e) &c_éf -2
% 4. ".: % | ;
i~ Write the quadratic equation 3 - % = 1 inthe di'r‘f‘-’t!/!:vf x__3+_4£ = -?—;- =1 el i

~ii
~iii
~iv

-V

-vi

‘\

-
~Vii
~Viii
~ix

- (fu&lif'fﬁuUV(B) A

i

-l

i

~iv

-V

Vi

~Vii

—viii

~ix

-Q{{iagm/"?&olﬂr(ﬁ) &l .a

. AT ST
:gu:LFJ:/JW')C:JUL):)'GJ) "Ic:_)u: JH LA i

60° 30' 30"

e oy —343 il
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o _ T Caod ol i
V- Find ', when {=4 cm, 6:-‘I radians. qu;q'-zz L=4 . e_z L.J_—éjmé‘;‘;r,lvr -iv

.v- Define projection. . ,Z:._yﬂ J:,l/ 4 Fov
vi- Definetangent, Sl uv i
vii- Define sector of a circle, R NG TR
viii- Define triangle. S el i
ix- Define circumscribed circle, | ? e S ix

-~ (9) !/‘dlr‘r"b' < ey (3 3) L dfa UR (19 2o
(u!/ 4L ;00 A8 ZJv 2) Section II 9 o

5- (@) Solve the equation x%+17x + 34?1 =0 by ESfed, Q{gf X2+ 17x + 1—3 =0 whis (i) -5
completing square. i
(b) Find the value of "h" using synthetic division if '1' is "1 N é';(:""::igf "h e Jiet £ ﬂt’"&(} ()
the zero of the polynomial »3_.91x2 4 11 ~1300% %3 _9hx? +11 U
6 @ Ifa:b=c:d, then showthat & = iti 2 32”2 SEEek Ve atb=c:d S (L) -6
b?+.d? b Vp?eq?2 7
(b) Resolve into partial fractions (XZ:;;)?E 35 -z»fdfiu:‘u:/dazf J—E—)%;(':f—’) i)
7- @ If L={x|xeNAx<5} | «L={x|xeNax<5} S _7
M={ylyePAy <10} thenmake the | In M={y|lyePry <10},
relation R 3 = {1 x+y =6} from L to M. &k Ry= {(X,Y)lx'f' Y=6} wyMe L
(b) Find the standard deviation 'S' 9, 3, 8, 8 9,89 18 9,3,8,8,980,18 & rJL"' 'S' S (Solae ()
8- (a) Verify the identity: ebedl (L) -8
(tan 0 + cot 6)(cos 0 + sit 0) = sec 0+ cosec @ (tan 8 + cot 0)(cos 0 + sin ) = sec O -+ cosec 0
(b) Inscribe a circle in an equilateral triangle with each LB &bt ¥ ABC UL-LELJUU;L» ()
~ side of length 5 cm. -f” 5 du s,
8- Prove that one and only one circle can pass through e, s LSl e b ubﬂ," Il g
three non-collinear points,
OR b
Prove that any two angles in the same segment of a Uty L 6': S 00l b3 (5 Jf d_ﬂ/fc‘:s/lf

circle are equal,

- 110-222-100000
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b Lotz e b Lére b Ldv sy Jeiz SLE DA C B A2 e Ly LS
KD e Az i S § LS S 4.// St sk el B fa ol S S o2 S
1-  1- A setwith no element is called v,’ q '—»— “‘.'w"f""" defui Uds 1A
superset Jda (D) singleton set -.'«{,“L..( empty set xyb (B) subset d{(}f (A)
2- Third proportional of x2 and y2 is e LY g2 a2
2 4 2
i—4 (©) % © x*y? () 12—
3- A data in the form of frequency distribution is called ~c_t‘ll*( A (}’ J (‘“’ G 23
denominator & /# (D) histogram ./"ul ¥ (C) ungrouped data Jb’lju);’ (B) groupeddata )'r‘(f)/' (A)

4- The distance of any point of the circle to ifs centre is called _c_l."llf LW E L LUWE Tl 4

an arc JLg (D) achord 73l (C) diameter & (B) radius Jhs (A)
5- Mean is affected by change in ___ I e b it e d S batfl> .5
place £ (D) origin iU (C) raio =+’ (B) value =d (A)
6- Angle inscribed in a semi-circle is e b P S id 6
o i T s
2 (D) 3 (&) 4 (B - ®

7- 1f b%—dac>0 butnot perfect square

then roots of ax?+bx+c =0 are
none of these %0/ (D) irrational - (*t# (C)

8- The quadratic formula is
bt VbZ-4ac

®).
2a

_brb+dac -
2a

9 (x+3)2 =x2+6x+9 is
an equation bl (B)
none of these Ui tu! (D)
10- An arc subtends a central angle of 40°, then the

corresponding chord will subtend a central angle of

80° (D) 60° (C)
11~ Sum of cube roots of unity is
3 (D) -1 (C)
12~ The domain of R ={(0,2).(2,3),(3,3),(3.4)} is
v {2,3,4} (D) {0,2,4} (C)
13- -;— cosec 45° =
3 ,
—{— () V2 ©
14- if atb=x'y, then alternando property is
a~b x-y atb x+y
5 y (D) b y ©)
15- A gircle has only one

centre 7 (D) diameter & ()

111-(111}-222-87000

64
ins S b2 —dac>0 ST
U Laxt+bxtc=0 whls
g (B)

imaginary d‘:’;,-f (A)
~c Uy Son 8
~ bt Vb2 -4dac

=——"" 7" (A
X 2a @)

_—bt \/b2+ 4ac
T 2a
e ol (x+3)% =x2+6x+9 -9
alinear equation =bleGuf (A)
anidentty =\’ (C)
§7556 80 & 40° S ¥ Uit -10

rational

~&- bt ) (5)}
40° (B) 20° (A)
..rf...nf- b/.,aﬂl/fq £(j(’ |
1 (B) 0 (A)
-.»_dn Dom. R 7 R ={(0,2),(2,3),(3,3),(3.4)) /I _12
{0,2,3} (B) {0,3,4} (A)
1 o
- 45" =
5 cosec 13
1 1
2 (B) 22 (")
_(_Jdul)‘y atb=x'y N4
a_x a_b.
by (B) Xy (A)
—e b PSS sl _15

chord 75 (B) secant d’l?{p‘
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2- Write short answers to any SIX questions' (2 x6=12) _.-f(/‘uw/"'éumr(s) Lc_(}f -2
1 | Cl 5.
I- Write +—— = 3 in standard form. UT’ u‘aﬂf b Grlas S +— =3
x+4  x-4 4 x- 4
I Solve +/3%x+18 ="x «c’:d’f V3x+18 = -li
iil- Define reciprocal equation. , vén_ﬂ/“ J um/.,fﬁ' i
iv- Find the value of p, if the ratios 2p + 5 : 3p + 4 s 2p+5: A VS ]
and 3:4 are equal. _un/l/ 3:4
v- Find the third proportional to a% -b?, a-b _&,{r}*qlﬁ ¥ a?-b2 a-b v
vi- Define Inverse variation, -zi__y} g Jﬁ'/.'j ~vi
vil- Discuss the nature of roots. of quadratic ;g_{u{ru: Juj,, £!3x2 +T7x%x=13=0 whle -vii
equation  3x%+7x-13=0
viii- Without solving, find the sum and the product of roots 's €+ m)x2+ (m+n)x+n—~0 =0 whls -Vii
of quadratic equation (£ + m)x %+ (m+ n)x+n-£=0 N ok K‘/‘S/;“-’ L) -
ix- Evaluata 0)3 +0)38 5 _ér;j-"‘._,,) L,( m +m38_5 -ix
3 Write short ariswers to any SIX questions: (2x6=12) -jé{/uglgf"éomr (6) Z:c..Jf -3
i- Define identity. Sl el
7%x—9 7x-9
ii- Resolve -—————_—- into partial fractions. ‘ o g |
x+Dx=3) P S g oS (x+1)(x-3)
fii- If A={2,3,5,7), B ={35,8), then find A~ B ek ANB Jx B={(358)« A= 23500 _ii
iv- Write De-Morgan's Laws. A ESMS v
v- If L= {a,b,c}, then find two binary ralations in L x L -a_{r;h* W Qe £ LxL Jx L={abc} /I v
vi- Find a and b, if (a-4,b-2)=(2,1) (@a-4b-2)=@21) fide bwa _vi
vil- Find the geometric mean of the obssrvations 2, 4, 8 e b 22,48 wli s Sk B i
using logarithmic formula. _
Vili- The salaries of five teachers in rupees are as follows mJ; o ( UaLs) V14 J Wk (‘:L ~Viii
11500, 12400, 15000, 14500, 14800 find the range. & o2 a 11500, 12400, 15000, 14500, 14800
ix- Define arithmetic- mean. ..af ...d/7 J led(; -ix
4- Write short answers to any SIX questions: (2x6=12) -c‘:{/ublf/‘féuﬂlf(ﬁ) &l .a
- What is the sexagesimal system of measurement of angles? ?4_ Vru o LAy u"nl; Sugli i
ii- Express the following sexagesimal measure of the angle Ly f,;u SBondes gl i
in decimal form  60° 30' 30" 60°30' 30" :&ft S
, 13w : _
ili- Convert = to degree. e eSS % ~ii
V-Find @ when L=4.5m, r=25m L=45 4 r=25x .ﬁzifr)”' 0 .iv
v- Deflne right angle. : ~2§-..§//’J,;U A6 Ly
vi- Define secant. . EWSE B O i
vii- What Is meant by arc of a circle? ?c(-_.Jx Vusdesn i
viii- Define diameter. ~.2§...y/7 SHE il
ix- Define circumcircle. . ~25\_,-//" J oIl Lix
(ﬁ.ﬂj/))
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(a) Solve the equation 7x2 4+ 2x—1 = 0 by
completing square.
(b) Provethat x>+ y3 = (X +y)(x+oy)(x+ cnzy)

(@) Find x in the proportion:
3x-1 3 2x 7
7 7573 5
3Ix~-11
(x+3)(x2+1)
(8 W U={1,2,3,....,10}, A={1,3,5, 7, 9}and
B={1,4,7 10}, thenverify (A-B) =A'UB

(b) Resolve into partial fractions.

(b) Calculate variance of the data:
10,8,9,7,5,12,8,6, 8,2
(a) Find the angle of e_levation of the sun if
a 6 feet man casts a' 3.5 feet shadow.

{b) In and around the circle of radius 4 cm draw
a square,

Prove that two chords of a circle which are
equidistant from the centre are congruent.

" OR
Prove that the opposite angles of any quadrilateral
inscribed in a circle are supplementary.

111-222-87000

LB x4 2x o1 = 0 ehle () <5

3493 = (X + )+ 0y)x+ 0y) St ()

b ed § x vt (L) -6
3x-1, 3 2x 1
il o
3x-11

LGS ———— ()
PLIL (x+3)(x2+1)
A={1357,9 - U={1,2,3, ... ,‘lQLﬁ(JI) 4

(A-B)' =A'UB Zebin B={1,4,7,10) »
= ¥10,8,9,7,5,12,8,6,8, 2 sir Lz ()
_Z‘»:()L" )
Kd)fgl.da" 6 ».{‘ﬁ Z‘.,-.'.r}”»"‘,:ﬂ) ¥ o (Uil <8
: ik 85 e
bl S e 4 UK e b L (L)

Ut LFL"H(TQ Ust JeWiols S 235 09 Lo o SEhert .9
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